3.1

3.1

3.2 —

et al. (1999)

E(cost) = Z PEW) ..

E(cost)
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E(W;)
3.2.1
1
1 P,=n;/N
log, n; E(W;) = log, n;
E(cost) = ¥ Ylog, n
T (3.2)
n; 1
N
3.2.2
1
1 Pl = li /L
log, n; E(W;) = log;, n4
l;
E(COSt) = Ztlogz N (3.3)
li 1
L
3.2.3
E(COSt) ~ Y @ nemmmmem oo (3.4)
ai 1
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3.3

3.3.1

3.3.2

Pi

3.3.3

Si

%0 )
(90 ) Thiessen Polygons
AGNPS

E(cost) ~ 3t -mmmna et e (3.5)

1
(S S (3.6)

1
E(COSt) ~ D S e (3.7)

1
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3.4

( )
3.2
3.3
3.4.1
3.2 (To)
(Co)
(C1) Co G
C1< C() C1> C0
0~1 r exp(-AE/c)>r
(AE c )
600 2
Ci/Cp<0.8
10%
600
3.4.2 (UC model)
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N :
Min >, ui +V (3.8a)
i=1
ST.
Xqve Y Vi =X =0 VI (3.8b)
St [ (3.8¢)
ave M
B T L (3.8d)
Ty =M
V. €[0,]] VI --2mmmemmmmmmi e (3.8e)
Byl >X Vi _ASEEREL (3.8f)
=1
yl ————————————————————————————————————————————————— (3.8g)
u ..
<l1—
Zns1-y, WpeC vkeA“ v 3.8h)
=1 V
reZSj & S —— (3.80)
X =2 (z.-F.) VI —mommmmmm - (3.8j)
e | ]
OszIj <l v, (3.8k)
N
M
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Xave X
U, Vi Xj
Yi 1
B
Zij 0~1
Cy k
Aiu 1
Sj ]
F; J
Zui+vi
Xave Xj
Xj
Yi
1
xi=0 (3.8g)
] 1
1 k
1
T Zyj
Z 0 (3.8))
Zij j

Xave
1 0
] i
( i )
(3.8a) ( )
(3.8b)
u; v; (3.8c)
M Xave (3.8d)
M (3.8¢) Vi
(3.81) i
yi1 =1
(3.8k) Zij
0 (3.8h)
k p
zip= 0 (3.81) S;
] Zy 1 (3.8h)
Zyj 1
i j
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3.4.3 (CEUC model)

N
Min U +V. + piS """"""""""""""" (3.9a)
1=1
ST.
Xave_ui +Vi _Xi =0V (3.9b)
. PRSI (5="20 3 (3.9¢)
ave M
zyi _ M TR (3.9d)
Y. €[0,]] Wi -mmmmmmmmmmmmessssesoeeee oo (3.9¢)
yIAI > xi VI el (3.91)
D — (3.92)
X =Y.A - jeZL:Ji Xo+ B VU (3.9h)
BA—VY.)>P. VI (3.91)
Pi
S
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—

—-

@ X P

o

( )
i
(3.9h)

1 x; =0

pi (3.9a) ( )
2u;tv; pi S (

) Dpi Ui Vi (3.9b)~(3.9¢)
(3.8b)~(3.8¢) (3.91) 1
x; =0 (3.9g) (3.91)
1 pi.=0
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